Test: 2018 Primary 2 - Term 2 (SA1) Math (Tao Nan)
Points: 15 points

Name: Score:

Date:

Signature:

Select multiple choice answers with a cross or tick:
Only select one answer

Can select multiple answers

Question 1 of 14 Primary 2 Math (Term 2)

Section A (5 x 1 mark)
Choose the correct answer.

What is the value of the digit '2' in 2587

A) 2

B) 20
C) 200
D) 258

Question 2 of 14 Primary 2 Math (Term 2)
Which of the following has a value smaller than 57

A) 14+2

B) 20+5

C) 24+4
D) 30+3

1 pt

1 pt



Question 3 of 14 Primary 2 Math (Term 2) 1 pt

How many odd numbers are there between 10 and 20?

A) 5
B) 9
C) 11
D) 19
Question 4 of 14 Primary 2 Math (Term 2) 1 pt
- 100 =350 + 20

What is the missing number?

A) 270
B) 330
C) 370
D) 470



Question 5 of 14 Primary 2 Math (Term 2) 1 pt

The pencil below has a length of 20 cm. What could be an estimated length of the pair of
scissors?
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A) 10cm
B) 17 cm
C) 22cm
D) 4cm

Question 6 of 14 Primary 2 Math (Term 2) 1 pt

Section B (8 x 1 mark)

Read the questions carefully.

Write 697 in words.



Question 7 of 14 Primary 2 Math (Term 2) 1 pt

Fill in the box with the correct digit.
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5 6 8
Question 8 of 14 Primary 2 Math (Term 2) 1 pt

Multiply 9 by 5. The answer is



Question 9 of 14 Primary 2 Math (Term 2) 1 pt

Last Saturday, Sean walked from his house to the school.
Then, he walked to the playground.

Finally, he walked back to his house.

How far did Sean walk in total?

Sean's house School

Playground

Sean walked m in total.



Question 10 of 14 Primary 2 Math (Term 2) 1 pt

Abby has $10. How many bottles of milk can she buy with all her money?

$2 each

Abby can buy bottles of milk.

Question 11 of 14 Primary 2 Math (Term 2) 1 pt

The digit in each of the boxes is the same. Find the missing digit.

b Q

The missing digit is



Question 12 of 14 Primary 2 Math (Term 2)

There are 4 boys and 3 girls on a bus.
There are 2 times as many adults as children on the same bus.
How many adults are there on the bus?

There are adults on the bus.

Question 13 of 14 Primary 2 Math (Term 2)

Look at the pictures below.
What is the mass of the mango?

mango

blocks

The mass of the mango is g.

1 pt

1 pt



Question 14 of 14

Section C (1 x 2 marks)

Read the question carefully.

Nicole has $18.
She has $10 less than Bryan.
How much money do they have altogether?

They have $ altogether.

Primary 2 Math (Term 2)

2 pts



